bopita

ASSEMBLY INSTRUCTION UK MODEL :HOME
MONTAGE HANDLEIDING NL TYPE :PLAYPEN
MONTAGE ANLEITUNG D COLOUR WHITE
NOTICE DE MONTAGE F ART.CODE :110041.11
MANUAL DE MONTAJE ESP

\
L A\.L
'

AV
1

I/J>
7/
i
7/
\\N'"—H/
AN
TN .
8 /am\\V]
N ——=\
TI—\
o1

\\v7/
\NV/
Y/
77
A\

&

\LF

/AT
I\ %

Distributor:

BOPITA

Edisonweg 3, 6662 NW Elst
The Netherlands

www.bopita.com

12.09.2017.



e

M6X80 8X

M6 8X

/

M6X60 4X

¥

M6X35 4X

M6 4X

v

M6X25 4X

artcode: 441022

artcode: 442004

artcode: 441043

artcode: 441013

bricode: 442009

artcode: 441007

G

&

4X

H

D6 4X

M6 4X

J

&

@6X30  6X

<

Sw4 1X

<

SW5S 1X

artcode: 897011

artcode: 446001

artcode:442008

artcode:

artcode:445001

artcode: 445002
















